wod aunuoyon mam// dny

hitp://www.uokonline.com

O O

vc-120-BC

B. Sc. / B. Com. (Part - I) Examination, 2019
(Compulsory Paper)

ENVIRONMENTAL STUDIES &
DISASTER MANAGEMENT

Time Allowed : Two Hours

Max. Marks : 100

Attempt all questions. Each question carries one mark.
M_ark the correct choive of ﬂr;,:swer‘ (A/B/C/D) by
blackening the relevant circle fully with H.B. Pencil
on O.M.R. Sheet. Before marking the answer-on the
O.M.R. Sheet please also read carefully the instructions

given on it
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Group of two or more than plant specics is called us &'

(A) Plant Community (B) Animal Ecosystem

(C) Plant Ecosystem (D) Ecological Niche

ﬁm'%%mﬁmﬁﬁkmﬁwmt:

(A) W wqEw
(C) wru wit

(B) wig Wi
(D) wftfafr wea

Branch of science dealing with distribution of plants on earth's surface
is called :

(A) Ecology (B) Phyto-sociology

(C) Phytogeography (D) Phytology .

© R g W g @ @ ool ¥ e @ o wod

e &
(A) TR (B) wgd! - ittt
(C) wgifrars (D) wEZr

27 February is celebrated as :
(A) Environment day (B) World Wetland day
(C) Human right day (D) Biodiversity day

2 w@Eh v W b o

(A) wafare Raw (B) R amt wfr femg
(C) wrammt fREw (D) = fufrerar Raw
UC-120-BC] 2 ‘' [Contd...

hitp://www.uokonline.com

WO AW UOYOn smAam /- diy



wod aunuoyon mam// dny

hitp://www.uokonline.com

14/ The source of energy in an ecosystem.is : e

5

6

(A) Tumm SR (B) frumm wgEmTTAZ
(C) wrdrw (D) B
UC-120-BC) 3 [Contd...

{A) Sunlight (B) DNA
(C) ATP (D) RNA
gftftafis o & oot @ owm ¥ o

(A) o @ T (B) #iwAg.
(C) Tahd (D) stuAG.

The study of interaction between living organism and environment

is called :

(A) Ecosystem (B) Phytology
(C) Phytogeography (D) Ecology

AR 7 A F oA ol % onaw @ wed ¥ o
(A) ofifiafes a= (B) wrEmian

(C) wEAfrdmr (D) Tl (iR

J Which poisonous gas was responsible for Bhopal tragedy ?

(A) Ethyl Isocynate {B) Methyl Isocynate

(C) Freons (D) Methane

W Ae T B R @ wede R b 2
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7 Deciduous forest have :
(A) Varieties of grasses (B} Trees with broad leaves
(C) Tree with narrow leaves (D) Varieties of crocodiles
oot o F ol ¥
(A) el & fr (B) @ wi am 3@
(C) =%l woi Tt gu (D) wraEt B e
8  Waterlogging may occur in :
(A) Loam soil (B) Wet land
(C) Clay soil | (D) Swamp
wamita fafy s & wwd § -
(A) =T FT F (B) o wfr
(C) Pt qa o (D) = ¥
http://www.uokonline.com
9  Due to reflection of incoming solar radiation, temperature of earth
surface decreases it is called :
(A) Elnino effect (B) LaNino effect
(C) Albedo effect (D) Green house effect
drr Rfsel ¥ goadT § Y B9 W N wW 6 oo ¥, 9w seen
. -
(A) bEr T (B) wfmt wvm
(C) vt wra (D) @ T
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: . —_ . . 13 Whi i se of deforestation ?
10, Which type of vegetation is mostly found in India ?....: - hich one is a cau

(A) Coniferous (B) Rain forest . - (A) Taungya system (B) Jhum
(C) Tropical dry decidvous (D) Tropical mpist deciduous (C) Rotational grazing (D) Controlled burning
W ¥ g ey wew € ey T At € 7 . et § & - e @ o 7
(A) sigurd (B) =i & .. . (A) 2= o (B) ¥
©€) o siede g ofed (D) T Fhed o wiod (C) yoiea amw (D) Traf=a am
11 Which one is a conventional source of energy ? . 1:! The growing crops without the use of synthetic chemical is known
= =2 as
(A) Solar energy (B) Coal g g _
- - = = (A) Sustainable agriculture (B) Agroforestry
(C) Wind : (D) Geothermal energy b 2 '
= 2 (C) Social forestry (D) Organic farming
Fre # ¥ oS- o @ Towem wnE § 7 £ =
- . | z z e % wwdm ey Ren wew S @) e s b
(A) " =t (B) = g S M
_ . : = = (A) e (B) Fhtyafm
(©) =g (D) i : 5 ) ™ .
‘ ' = 2 (C) wrifws aifea (D) wdfm Bd

1"; * Movement of water and air remove top soil from .the land by the: .

f:
process o _ _ 15 EPA was enacted in year :
(A) Silation (B) Eutrophication .
: (A) 1985 (B) 1986
(C) Succession (D) Erosion
_ | | © 1987 (D) 1988
Gt e 9 AT YA gr g ) wwl | W e 3 @ whew .
el ¢ ' EPA =T BT o
(A) W ®) g (A) 1985 - B e
©) sy | (D) s | ©) 1987 (D) 1988
UC-120-BC] 5 .*[Contd... UC-120-BC] 3 [Contd...
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16 Ecomark of India is
- ndia s ; 19 Geosynchronous satellite placed at

(A) Swan o () Earthen pot . (A) 3000040000 km B) 5000-6000 km
() Earthen Saucer (D) Plotted plant (C) 8000-10000 km (D) None of these
T T g | ety woms o R ¥
(A) = B) faft @ W (A) 30000-40000 Redr (B) 5000-6000 T
© Fet @1 e (D) ¥ e _ (C) 8000-10000 R (D) ¥ & @ T
17 Noctilucent clouds are seen in the : T - - 21}/ Which form of radiation is used, in microwaves 2
{A) lonosphere (B) Tropospheye %i é‘i (;‘;) Infrared (B) Ultraviolet
(<) Si_ralosphcrle (D) Mc.sosp_here E ;_:: (C) X-rays (D) :-,ﬂ'isihl.e rays
el AR a: R T % %— P fafe AR ¥ em o ¥ 7
(A) omgew ¥ (B) a@wavsa # :g-" ;T;T (A) Twis (B) ez
(C) RS (D) i § g g (©) wm % (D) zvx focdi
hitp://wwiw uokonline.com
18 Kaiga Nuclear plant is situated at @ o 21, Biogas is principally a mixture of :
(A) Tamil Nadu - {B) Karnataka _ ' (A) Methane and Hydrogen (15))] -Mcthanc and Ethylene
(C) Gujarat : (D) Orissa o (C) Ethanol and Hydrogen (D) Butane and.nygcn
e s fem ¥ | awirt e feaer ¥
(A) dfwE (B) wew - (A) W T TR (B) #¥ 7 udieir
(€) T D) s (C) w3 T D) =R 7 s
- UC-120-BC] 7 . [Contd... UC-120-BC] 8 [Contd...
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22 Which among these state do not have any wind energy, prospective
sites 7
{A) Tamil Nadu (B) Kerala
(C) MP. (D) Uttar Pradesh
Pt 3 3R T ¥ wg et ot e T b 7
(A) itwrg (B) #twm
(C) mE Wy (D) wux W
23 The first small hydro power (SHP) in India is :
(A) Sidrapong (B) Galgoi
(C) Shimla (D) Manali
AT & WA @Y W S g §
(A) feasadir (B) g
(C) fmmm (D) =t
24  Which geological period was coal formed ?
{A) Carboniferous (B) Triassic
(C) Permian (D} Cretaccous
ww & P e il s ¥ gan 7
(A) wrEitTHTE (B) frarfves
(C) wifrms (D) fipefiras
UC-120-BC] _ 9 [Contd...
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26

hitp://www.uokonline.com

Jawaharlal Nehru National Solar Mission (JNNSM) approved in :°

(A) 2007 (B) 2010

(C) 2015 (D) 2018

STEETER e Ter @ e ge gen

(A) 2007 (B) 2010

(C) 2015 (D) 2018

C-WET is located (Centre for Wind Encrgy Technology) :
(A) Gujarat (B) Chennai
(C) West Bengal (D) Rajasthan
C-WET (a1 woit aaienl &) few & -
(A) T (B) =

(C) ufymm wmw (D) A

27 World largest Tidal ‘power plant situated in :
(A) France (B) South Korea
(C) Japan (D) Russia
fysg & I8 IB1 wHE S wOF fam b
. (A) WIE (B) =far sifn
(C) s () ==
© UC-120-BC} 10 [Contd...
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28 The prospective sites of Geothermal energy in India isfare -
(A} Puga Valley (B) Tatapani
(C) Godavari Basin (D) All of these
W A i e ¥ gl 1 - E
(A) Tm TR ®)
(C) herardl afes (D) st @t
29  Srisailam Dam is situated on which river ?
{A) Krishna (B) Sutlej
(C) Beas (D) Narmada
drfaem =iy fem wd v Rag ¥ 7
(A) Hom (B) wdw
(C) = (D) v
30 Western Ghats extends in which states 7 -
(A) Goa {B) Kamnataka
(C) Tamil Nadu (D) All of these
oot w2 Pt Tl A omefem b
(A T (B) e
(C) afterrg (D) s @it
UC-120-BC] 11 [Contd...
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32

(A) Oy B) 0O,
{C) SO, (D) CO,
d A qrdT Reon § g W e ¥ o
(A) O (B) Oy
) SO, (D) CO,
UC-120-BC] 12 [Contd...
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The Chernoby] nuclear disaster was occurred in year :

(A) 1986 (B) 1987
(C) 1988 (D) 1989
it i el e ad g @ 7

(A) 1986 B) 1987
(C) 1988 (D) 1989

Bauxite mineral is found in India :

(A) Jharkhand (B) Maharashtra
{C} Chhattisgarh
T @i Wit ¥ AT A §

(B) =emrs;

(D) Tute wf §

(D) All of these

(A) w@ETE
(C) =g
http:fwww nokonline.com

What is measurement unit of Sound pollution 7

(A) Decimal (B) ppm
(C) Decibel (D) Herts
W AT AT & i‘:h‘l%% :

(A) (B) i,
(C) e (D) &=

The pm'tcction from UV rays of sun is thi—ough :

hitp://www.uokonline.com
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) o ] 39 Industrial waste causes :
35 Acid Rain in atmosphere is due to increase in concentration of : J

v (A) O; and dust (B) CO, and CO {(A) Soil Pollution (B) Water Pollution
(C) SOy and CO (D) 80, and NO, (C) Air Pollution (D) All of above
TEE™ ¥ fRea) wizar : - '

T ¥ ol aw A ¥ 2 sfaifes srfire @ ¥
(A) O3 7 (B) CO, 3 CO
A eyl B) 9= WgE
(C) 86, @ Co (D) S0, 7 NO, W )
(C) =g weuw (D) sota afl

3p  Which is not an air pollutant 2
(A) SO, (B) CO, ’ “‘1‘? Soil conservation is :  hup:/Awww.nokonline.com
(C) Co D) H, (A) Convert infertile to fertile
H-|T 91 UguH e ¥ 7 o — (B) Soil aeration
A) SO B) CO 5 =
(A) S0, (B) €0, =2 =2 (C) Soil erosion
(C) CO (D) H, £ =3 _

; E (D) Protection against loss
37 Taj Mahal is damaging due to pollution of : g g ga @@ §
v g z
- (A) Chlorine (B) Hydrogen . = =2 (A) =W Har Ealiee L F aEEAl
o) SO D) O @ &
arHEd B fhwd wgwe W afy e W ¥ 7 = 53
C AT
(A) Farte (B) ¥EERH ©
© so, D) 0 (D) wfy ¥ fews geen
38 Ecological pyramids were pmpused by : 41’, Lead [Pb:} is mainly :
(A) Odum (B) Haeckel (A) Soil pollutant (B) Water Pollutamt
(C) Elton (D) Mishra (C) Air Pollutant (D) Wone of above
witfafi frafs (mm) @ afimes e - drar (Pb) o ¥
A
(). o ®) P A) T T (B) W w5
C fan -
€) A ) (©) a1 T (D) v wé T
UC-120-BC] 13 [Contd... 14 [Contd...
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42 Endemic plants 45 Forest near equator region is called :
é are

(A) Deciduous (B) Tropical rain
.U‘\} Cosmopolitan -~ (B) Occur in particular area (C) Coniferous (D) Temperate
(C) Occeur at high altitude (D)} Occur on North pole EtEn & W o o AW ae
i g § - ' (A) Tofa (B) wwmfedra aul
(C) sigE (D) wetrdren
(A) Tagyareamdy (B) &= fuda & o o ¥
(C) Sumal W o oy ¥ (D) soft g7 o W W ¥ 46 Grassland with scattered trees are called :
(A) Pampas (B) Steppes
! (C) Prairies (D} Savanah
43  Which is best for pl y SR
43 ich is best for plant growth ? arerE B q-q oB 9@ 9R 9@ ¥, ween ¥
(A) Loamy soil (B) Silt soil (A) T (B) w=dr=
(C) Sandy soil (D) Clay soil (C) wirlm (D) %

o 7{&5 % fd som &
47 NEERI is situated at :

WO AW UOYOn smAam /- diy
wWoa aujuoyon mmm//dny

(A) Emqz T (B) fae war (A) Kanpur (B) Nagpur
(C) =g &1 (D) fawit ga (C) Bhopal (D) Mumbai
NEERI] frm ¥ -
- (A) T (B) =g
44 ‘The science dealing with soil is called : © *@ (D) 7o
(A) Pedology (B) Acarology
(C) Geology (D) Palentology 48, Which is responsible for water pollution ?
(A) Sound (B) S0,
el ¥ watad faem s € . D) Sews
(C) Salts of arsenic (D) Sewage
GV (B) Wl P wg S ¥ R wEwd o2
(C) fasieish (D) dfmaueteisi _ (A) =@ (B) SO,
o (C) ot F wav (D) =i
UC:120-B(] 15 ) [Contd... 16
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49  Which of the following species isfare an endangered ?

hitp://www.uokonline.com
(A) Great Indian Bustard (B) Asiatic donkey

(C) Black buck (D) All of above
= A ¥ P oty deeom 3 2
(A) T (B) ufimE e

(C) <rwmam (D) Swiw adi

hittp:/f'www . uokonline.com

i?, Hydrological cycle is controlled by :
(A) Grﬁssland {B) Forests
{(C) Plankton (D) .Epiphytes
A @ @ B Pt wm ¥
(A) HTEE (B) =
(©) = (D) o
51 Appiko movement is related to :
(A) Tiger project (B} Plant breeding
L (C) Plant conservation (D) Animal breeding
o oS wefi ¥
(A) @\ 9ftiem (B) WRY WA
(C) wr=w wHeam (D) wg W=
UC-120-B(] 17
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52  Which of the following is a secondary air pollutant ?
(A) Ozone (B) Carbon dioxide
(Cy Carbon monoxide (D) Nitrogen dioxide
fra & am-a fadm ag wee ¥ 7
(A) driF (B) BT SRS
(C) @ AFrrEs (D) TR SEARRIES
53  Which of the following is not as a consequence of global warming ?
{A) Rise is sea level
(B) Increased agricultural production
{C) Deterioration in health
- {DY. Increased storm .frequency and intensity
ﬁwﬁﬂﬁw—méﬁwwmﬁﬂﬁwmﬁ% ?
(A) &g @@ a‘-' m
(B) B Wj?‘"'j ;
© e ¥ frre
() o A o 7 A A T
54 The primary cUntrlbutm to the greenhouse effect is by :
s (A) Carbon dmmdc . (B) Carbon monoxide
(C) Chlnmﬂucro curhans (D) Methane gas
e s B LIC] @ mﬂﬁl‘a‘i drmem e ¥
(A) W TEATEES (B) #7 Arirrgs
(C) werimrg e (D) ddw g
UC-120-BC] 18 [Contd...
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5?/Presence of high coliform counts in water shows :

(C) Liverworts (D) Hornworts
fr= F #F-¥ TEY §yF SO, WA & W A qEHis § !
(A) wiftardra wmgs (B) & |
(€) Wt (D) TEE
57 Reoycling of glass requires its conversion into :
(A} Shard (B) Frit
(C) Cullet (D) None of these
Wﬁigﬂ:wvﬁaﬂqg@'mm%:
(A) B (B) WE
(C) == (D) vt wr T
UC-120-BC) 19 [Contd...

(A) Contamination by human wastes

(B) Phosphorus pollution

(C) Decreased BOD

(D) Hydrocarbon pollution

W A G B e @ soRalr waff e ¥
(A) #rFa afire grq dweor

(B) TRy

(C) BOD ¥ =

(D) e g

Which of the following groups of plants' can be used as indicators
of 80O, pollution of air ?

{A)} Epiphytic lichen (B) Ferns

hitp://www.uokonline.com
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‘Ef/ Drinking water bottles usually made up of :
(A) PVC (B) LDPE
(C) PS8 ' (DY PET
wh @ A SR Bd
(A PVC {B) LDPE

(C) PS (D} PET

50 Which chemical used for increasing whiteness in recycled paper ?

(A) Hydrogen peroxide {(B) Nitric acid

(C) Borate (D) CO,

fra ¥ BT W AR SO % whd qgE X FH oo € 7

(A) TEERE TTAEEES (B) = Efew o

(C) 9z . (D) CO,

60 Blue baby syndrome caused by :

(A) Heg (B) Cd

© Silica (D) Nitrates

= ¥ Rogm e ¥ o

(A) Hg (B) Cd

(C) fafa | (D) Tggze
UC-120-BC} 20
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'Gl Los Angc]c& SMog was caused by emission of . \6/4 EXXOI’I Valdez oil spill is 'I:,'.X'(llnplﬁ of :

wod aunuoyon mam// dny

(A) NO, (B) SO, (A) Marine pollution (B) Soil pollution

(C) 04 (D) H,0, (C) Air pollution (D) None of these

W S @i omdT de ¥ T A S Te S ¥

(A) NO, (B) SO, (A) T wgum & (B) g1 wguT

(C) 04 (D) H,;0, (C) =g wemw = (D) woiem &% =l
62 Sharer's disease is caused by : 65 Example of primary wasie waler treatient is :

(A) Mn (B) Al g E': (A} Screening (B) Sedimentation

(C) Mi (D) Be j"f g (C) Grit removal (D) All of these

§TE T feEs ww we ¥ 7 EF Ez_ waftes aafite wE TR W owee™ ¥ o

(A) Mn (B) Al % ;:_,“ (A) =i (B) sreamEa

(C) Ni (D) Be é % ©) fre s (D) T wh

Black Foot disease (BFD) caused by loxicit)f of :

63 66 Thermal treatment method of solid waste jsfare
(A) Cadmium (B) Asenic (A) Gasification (B) Pyrolysis
(C) Silica 'E_D) None of these (C) Incineration (D) All of above
&% g A few & P B o TR Y 7 B o FromeT & frd Al S Ry % -
() P ®) s (A) e (B) ity
(C) Rafer ©) e ¢ (C) TR (D) wuirwm iy
UC-120-BC] 21 [Contd... UC-120-BC] 22
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:5} ::TCL;TME termed as Green house gases ?
(C) Water vapour O _—
{D} All of these
BRI S IR e G
(A) wEm (B} FHH SRonESs
(©) v (D) wwdea @
68 E-waste (Management ang Handling) rules effective from :
(A) May 2012 (B) May 2013
(C) May 2014 (D) May 2015
§-arafire (e % Freron) P wm F waeh gg 2
(A) =& 2012 (B) w¢ 2013
(C) = 2014 (D) =# 2015
hitp:/fwww uokonline. com
69 How many categories are of B{()n;-:dicul waste und.cr Schedule-T 7
(A) 8 (B) 9
(C) 10 (D) 20
HIEE wgT AR wEmfrwa omfire A el aof ¥ ¢
(A) 8 ®B) 9
(C) 10 (D) 20
:,-J} Which one is natural disaster ¢
(A) Earthquake (B) Tsunami
(Cy Volcanoes (D) All of these
S [ F-W IR oy ¥ 7
(A) (B) g
| (C) ~eTgE (D) IuEm
UC-120-BC) 23 [Contd..,
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71 Phailin stand for :
(A) Cyclone
(C) Drought

SR T ¥ ?
(A) wEFe (B) A
(C) T (D) sute wE TE

72 Disaster Management Act was enacted in ycar :

(A) 2006 (B} 2005
(Cy 2008 (D) 2009
anvar yaue G Pew ad @ g 7

(A) 2006 (B} 2005
(C) 2008 (D) 2009

73 The place of origin of earthquake is :

(A) Fault (B) Epicenter

(C) Focus (D) Eye

wE B I W ¥ _

(A) & (B) whdwt

(C) wmw (D) eit@
‘}4 The study of earthquake is :

(A) Seismology ' (B) Acrology

(C) Entomology (D) Virology

qF W AT HEART §

(A) ferasiaich S @) Taw

(C) it (D) A
UC-120-BC) 24

hitp://www.uokonline.com

(B} Hurricane

(D) None of these
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75 During tsunami the largest wave is the
(A) First | (B) Second
(C) Third (D) Unpredictable
Tt & o wh ww Al b
(A) we (B) fat
(C) wdm (D) SR
76 _ Drought is :

v

(AY A year without rainfal

(B) A week without rainfall
{C) Water scarcity fof ang period
(D} A season without rain

war ¥ | C e
(A) P =af @7 o

(B) fam asi & wm wEw

(C) wFlt & FH W= EHd T

(D) ww Hrew Tut

E} Water borne disease isfare :
{A) Cholera (B} Typhoid
(C) Dysentry (D) All of above
o AR A § -
(A) Fam (B) =TS
() ufaw (D) Tt T
. UC-120-BC] 95
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grﬁ Flood is :

79
(A) 8 B) 9
) 4 (D) 12
ﬁ.ﬁ.@.%waﬂﬁmﬁﬁ%ﬁﬁﬁﬁtmﬁm% ?
(A) 8 (B} 9
() 4 (D) 12
80 Wildlife Protection Act was enacted in year :
(A) 1972 (B) 1973
(C) 1974 (D) 1975
gt atEw aiufem weg g9
(A) 1972 ¥ B) 1973 §
(C) 1974 % (D) 1975 %
UC-120-BC 26

(A) Excessive rain

(B) Water overflow to submerge land
(C) Excess water |

(D) Excess water depth

T ¥

(A) srafirs ot

(B) afrm et & s @ P

(C) atfrts ot

(D) smafe el @ TEad

BIS divided India into how many seismic zone 1
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Gray water refers for generation from :

(A) Bathing (B) Washing
(C) Showering (D) All of these
o P ¥

(A) oM ¥ (B) wm &

(C) sifaft & (D) wwimm wd

Black water refers for :

(A) Waste water from toilet

(B) Waste water from industry
(C) Waste water from agriculture
(D) All of these

wWE wE W oot ¥ oc

(A) <Tgwe @ra afiE o

(B) wuimi mro Fremiia we

(C) 3w T Preafm

(D) wul @l
83 Which country is largest producer of Green house gases ?
(A) USA . {B) China
(C) India (D) France
Prer & - TAY ger A oW AW S dM Y 7
(A) 4TET. (B) ¥
(C) W@ (D) W
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Radiation is health hazard because it occurs :
(A) Pneumonia K (B) Leukamia
(C) Hemophilia (D) Ancmia
fefeer o wwE wwe ¥, wifs TeE HO B ¥
(A) e - (B) T
(C) mirdiferm (D) At

httpeSfwwew nokonline. com

Which one is omnivores 7

(A) Frog (B) Lion
(C) Deer . . . (D) Man
# waterdt ¥

(A) T (B)
(C) Bor - (D.} 3

All the living and non living factors of the earth constitute :

(A) Biosphere (B) Community

(©) Biome (D) Association

q&ﬁﬁmﬁhﬁﬂmﬁwmmm*:r

(A) Sremvse (B) w3
(C) amm (D) ®w
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87 COP-24 (2018) on Climate change held at : - 91 In land usc of India how many % of barren land 7
(A) Bonn (B) Poland (A) 44% (B) 23%
(C) German D) Doh
Y (D) Doha ©) 2% : (D) 14%
wieerg ot T COP-24 (2018) w&f 5§ ?
(C) = : (D) < (A) 44% (B) 23%

. (C) 8% D) - 14%
{F}/ The plant part when fully decomposed by microorganism and mixed ®) ’

in soil is called :

(A) Litter (B) Duff _
(C) Humus @) All ’ 92 Water Pollution (Prevention and Control) Cess Act enacted in :
= =2
el % Er0 ga uey wel & O eMued wew @ oawa ¥ 7 s o (A) 1974 (B) 1977
(A) g wme (B) == Z z (C) 1981 ' (D) 1982
(©) W (D) welr z z
£ £ Wy (imum ¥ P ww) dW (ITeY) WO gem i
= =
89 The thickness of ozone is measured in : é, é_ (A) 1974 (B) 1977
(A) PPb (B) PPm g 5 |
N 2 2 (C) 1981 (D) 1982
(C) milli centimeter (D) Dobson unit 5 5 '
i @ " A oA ® o
(A) PPD (B) PPm 93 CITES (Convention on International Trade on Endangered Species)
(€) Pl S (D) SEET @ was enacted in year :
: (A) 1973 : (B) 1972
90 Montreal protocol happens on ozone depletion : _
(C) 1991 (D) 1982
(A) 1986 (B) 1987
(Cy 1988 (D) 1989 ' CITES (sfercursdly Waawe Womfi ST Ffsr) wm gom :
SE T W ARy G gen o A) 1973 (B) 1972
(A) 1986 (B) 1987 '
(C)y 1991 (Dy 1992
(C) 1988 _ (D) 1989
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94 National Green. tribunal enacted in year.: 98  Megacity refers for :
(A) 2015 ' .
: (B) 2010 (A) 10 billion population (B) 100 billion population
© 2013 - (D) 2018
. (C) 10 million population (D) None of these
(A) 2015 - (B) 2010 Tmd ¥ aftwrm ¥
€y 2013 (D) 2018
; (A) 10 fafsas w=dem (B) 100 fufrgs w=raem
95 Zero emission I{I&}' commemorate on [C] 10 ftlfc?l?ﬂ TAEE (DJ G‘Wﬂ'ﬁ ﬂ ﬁ Eﬁg —'{ﬁ
(A)Y 5 June (By 21 September hutp:www uokonline.com
(C) 22 May (D) 14 March
- K 99 Swine flu oceur from -
-t : e
fegm v s % - - _
(A 597 (B) 21 faaax G S (A) HINI virus (B) Hanta virus
(C) 22 =8 (D) 14 =rd ,f,. z (C) Corona virus (D) None of these
z =
£ 2 — :
96 Highest population density of state in India : = ;.’-{..:_i R wq, o &
(A) Bihar (B) West Bengal E.. f— i {A) HINI agtd ¥ - (B) Tvear ATE W
C) Rajasthan (D) Mizoram & % i
e : 2 2 (C) @i aneg ¥ (D) wulws =
wiea # fEw TF9 B Fedaw SEEN WAE €7 = 5
(A) Famre . (B) uiywm ame
- (C) TmEr (D) Praroms oo 100 Pertusis (Whooping cough) disease spread by :
X (A) Virus (B) Bacteria
97 National family welfare programme was launched. on:: | .
(A) 1951 (B} 1952 (C) Protozoa (D) Nn“k‘r of these
(C) 1953 (D) 1954 ' Tt (g ww) e e b
ofET Hegmp =wam P
(A) 1951 (B) 1952
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